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SN BA(SA) - MRAY - BES 0l &t o il HImEET
wEHFH M 2,500,000 0 2,500,000
Xl 750,000
Al 1,750,000
s (=32 uE/UHE5RE - 2E]SIIE 2,500,000 0 2,500,000
Xl 750,000
Al 1,750,000
FAE =4 L Z2e(FNESESAH) 2,500,000 0 2,500,000
Xl 750,000
Al 1,750,000
SEAFUE LAY 250,000 0 250,000
401 AIEHI L 20 70,000 0 70,000
01 A& HI 69,352 0 69,352
SET 28 YN(2Y)ENE X4
10,000,000& * 6IH 4 = 99.1/100 59,460
O3S (LANFIE AIEHHI
2,000,000 * 5Ji4A * 98.92/100 9,892
03 Al S THHI 648 0 648
OREs2 22 dA(SY)=NE 24
60,000,000& * 1A = 0.9/100 540
OSZ(LANFXE AIEHHI
10,000,000 = 14l * 1.08/100 108
402 RIZ2FXt20l ™ 135,000 0 135,000
01 2IZt Xt 2 AL E = (REM &) 135,000 0 135,000
OUEFXE2I XNEAG(EZE FH)
3,000,000 * 20&H 60,000
OARE UIEXNE LA (XS 50%)
25,000,000 = 30H A 75,000
801 GBIl 45,000 0 45,000
01 Etoiidl bl 45,000 0 45,000
O=XEEZL3H oldldl  45,000,000& * 14 45,000
(2)SLEFUNE 24 (2F8 HEFTE) 2,250,000 0 2,250,000
Xl 750,000
Al 1,500,000
401 AIEHI L 20 2,250,000 0 2,250,000
Xl 750,000
Al 1,500,000
01 A& Bl 2,241,900 0 2,241,900
OZF&8 HEFXE ZEAY
2,250,000,000& = 14! = 99.64/100 2,241,900
Xl 750,000
Al 1,491,900
03 Al 20 HI 8,100 0 8,100
OgxFs HEFXE Z8AY
2,250,000,000& = 1Al = 0.36/100 8,100




